
sinx=½
x=P/6+2Pn, n э Z
x=5P/6+2Pn, n э Z

sinx=⅓ 
x=arcsin(⅓)+2Pn, n э Z
x=P-arcsin(⅓)+2Pn, n э Z

cosx=-V3/2
x=+-arccos(-V3/2)+2Pk
x=5P/6+2Pn, n э Z
x=7P/6+2Pn, n э Z

cosx= -⅓
x=arccos(-⅓)+2Pn, n э Z
x=-arccos(-⅓)+2Pn, n э Z

arccos(x)

arcsin(x)
x+3=1
x=-2

1/3 arcsin(⅓)

-1/3

arccos(-⅓)

-arccos(-⅓)
2P - arccos(-⅓)

sinx=a
x=(-1)^n*arcsin(a)+Pn, n э Z

Если n чет, n=2k
x=(-1)^2k*arcsin(a)+P2k=
=arcsin(a)+2Pk,
Если n нечет, n=2k+1
x=(-1)^(2k+1)*arcsin(a)+P(2k+1)=
=-arcsin(a)+P+2Pk=P-arcsin(a)+2Pk

cosx=a
x=+-arccos(a)+2Pk


